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Instructions : .-'-\uempl all the questions. ™~

1 (ﬂ) Answer the Inlluwmg 1
“ (1) Which component is the llL-']EL of the CPU?
(2) Full form of EEPROM,
(3)  Which technology is used in Ilu: 3rd Luwralmn’
= (4) Full form of ENIAC.
(b) Answer any one of the following : 2
(1) List technologics uscd in cach generation. |
w2y List all types of memory.
{c)  Answer any one of the !ull(mmg : 3
(1) Give classitication of mmpulcrs by processing
Ldpahllrllu
& (2) Explain types of ROM in dc.rml
(d) Answer any one of the lollowing 5
(1) Explain block diagram of the: computer.
(2) Lxplain types of slots in bricl,
2 (&) Answer the lollowing : 4
(1) TFull form of DVD. ;
(2) Full form of. UPS,
(3) Numpad had _ Keys.
S UGB - MB,
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ol the Tollowing

(b Answer any vie
(1) List pointing devices, Explain any one.
() List ypes of storage devices. Lixplain any onc.
(£} Answer any ene of the following 3
(1) Lxplain MIDL.
(2)  Iapluin POS in briel.
(d)  Answer any one ol the lollowiny : 5
(1) What is an input device 7 List all input devices.
Fxplain any two. '
(2) List types of scanners. I\pl ain any (wo.
3 (a) Answer the following : 4
(1) What is a pixel ?
(2)  Which prmtcr uses an cIcctrostallL printing process?
(3) Full form of LCD. -
(4) Full form-of COM.
i
(h) Answer any one of the following : . 2
' (1) Explain OCR. -
(2) List types of printers. ik
(c) Answer any one of the Ibllmx'inu:?i“'.' 3
(1) Diflerence: between Impact printer and Non-impact
printer. (%
(2) Explain facsimile,
(d) Answer any one of the following ¢4 5
(1) Explain CRT with a diagram:
(2) Explain non-CRT display lu1illg.+.
4 (a) Answer the following ; . ' 1
(1) 1 byte = bits '
(2)  TFFull form of NB,
(3) (LLOI0T101)y = (___ )4
() Give 2's complement of (1011010),
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() Answer any one ol the Tollowing
tl] ('Ull\ L'” (3"\'?.' JH ] [ ']”
(2 What is an Imerpreter!
(©)  Answer any one ol the [ollowing
(1Y Dilterence between compiler ond interpreter,

(2)  Attempt following conversalion.

(1) @3B, > gy
(2) (7892, = (____ )
(3) (42173)g = )6

(d) Answer any one of the following 2
(1) What is OS ? Explain tvpes of it
(2)  Attempt following questions &'

(1) (1111011011)y + (1101101101), = ( 2.
(2) (HOTTI0T1), = (10010110), = (_____ o
(3) (L11010), ~ (110), = (__ )

@) (110101)y 5 (10Da = (),
(5) (101, = (111011), = (___), with 27

¢ complement.

bk Ii(wu

oo

5 (a) Answer the following :
() Tull form of Lili _
(2) Full form of GSM.

(3) Full form of ATM.
(4)  What is Back up?

tfbj Answer any one of the following ¢
(1) Explain IR. '
(2) Explain Bluetooth,

(¢)  Answer any one of the following
(1) Explain GIS.
(2)  Lxplain Google Glass.

Ad)  Answer any one of the (ollowing ;

~ (1) Expluin Cloud computing in detail,
(2) Lxplain GPS in detail.
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